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2.9 Trigonometric Ratios
Finding missing sides & missing angles using Right

Triangle Trigonometry .

Standards :
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# Pythagorean theorem

Recall : If there is a right triangle ,
then there is a relationship

between the legs & hypotenuse which is a2tb2= c ? .

a# a4b2=€

CExamples] Find the missing side
.
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hey Trigonometric Ratios

Let's consider the below right triangle .

Solve for the unknown
.

A

:µ
Yeeiaaunstuwseethatnhsorhundmersem

to find the hypotenuse .

$#•cDiiemmainhnytnwwndsoiaewewtnenn'they given
one side in a right triangle ?

. The way we can find unknown sides in a rightis by using

Trigonometric
Ratios

.

' The Trigonometric Functions he will be looking at are :

[

site
-

tangent
, ,

pronounced
"

sign
"

tpohihoeunced
"

w - sign
"

↳
pronounced

' '

tangent
"

↳ symbol Sino ↳ symbol cost ↳ tant

. Greek letter O  pronounced
" theta "

representing an unknown

angle .

( like × represents an unknown number)
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TRIGRATIOT memorize

-inQ=opposi÷ypotenuse

opposite,µo_tn
"

|*=ahybja÷itwe|

adjacent tanQ=0#e
.

"
opposite

"

means opposite sideofo adjacent
.

"

adjacent
"

means next too
' "

hypotenuse
' '

means longest ordiagmalside .

-

Sounds like
A good way to memorize is

OttTTOAl.anindianwordifExampkDFindsinQcosoItanOfromtherighttriang1es.sinQ-opp.35hyp37@353Dwso.a

II7 0 hyp 37T tanO=opp=I

adj 37
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�2�

sinQ=opp=8I

0
24.5 hyp 24.5

23 .1µwsO=adj=2±7- HYP 24.5
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tana-opp-8.2Adj23.1@CmsiderDABcWheremcBAc-9O0andsinO-s2FindABandtanf7.yy ta
www.apple#=z
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Howdoweusetrigratiostosdueformissingsides ?

Let's gobacktotheour dilemma .

A• - What's the angle of interest ?60°
- What 's the position

ofsidelengthxµ. inwnratteitttn:p:L
.tn#oFtioYeienotnao

in respect to 600 ?
"

hypotenuse
"B¥•cwhich trig ratio is appropriate to use ? Sino .

sinO=qp,¥ ⇒

sin6o°=1
Sdvefrxbycnss

10 multiplication .

×=10sin60°
×= 553=8.66

[ Mneexampledfihdthe missing side
.

�1�

tanton g⇒tan3a¥¥
 3 13tan32°=×

8.12 XX
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II. os*aya÷⇒ cootie
110600 - ×

11 =×

:5=×
�3�

×stµsintoapgt
⇒

sirst
:

10×1

=8 xsin570=10.8#tEt11=12.88
�4�

µsµ× ws0=ahdpIy⇒ws37=¥
7

xoos 370=11#oWSJH
x= 13.77
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Let's consider atriangle with Zgliewsidesla missing angle :

A•
sinQ=opI⇒a

p adj
Now

,
I'm trying tofindµ sina.ge#i%EewonebYendsintgB#oc

INVERSE OPERATIONS
8.66 sin '(s¥o)=Q =Neinverseofsmtis

so.v°=o sintlfftgl ,

600=0
. the inverse ofustis
wstattytpl .

the inverse oftanonis
tan"(oPP*

j )

[More Examples] Find the missing angle .

oh,¥ =ga÷⇒*=÷
with )=Q22.610=0

230=0
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An taro .at#=tano=yg*
tan"µEt=O
49.95±QSO . TO

�3�

€6 cost

.gg#=saoso=g=
' (f) :O

48.20=0


